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QUESTION NO.-1

Answer any five parts of the following: [1x10=10]

A. a)Find d/dx of : secx+tanx/secx-tanx 1
secx+tanx/secx-tanx @I d/dx JTd PIog 1
b)If 2+3i/2-3i =A+iB then find A and B
g 243i/2-3i =A+iB 8 Al A 3R B I BT

B. a) Find (j.ki) +(j.i.k) 1
@ (ki) +(.ik) 1
b) If f(x)= 1-x/1+x then f.f(cos @) will be
IS f(x)= 1-x/1+x A £.f(cosig) BT

C. a) Ax- Bx/x evaluate prperly b)If y=( x-1).(x2+2x+5) find 3times derivative of y 1
lim x~0 1
Ax- Bx/x STId TTH ®x b)ATG y=( x-1).(x2+2x+5) y BT 3 TAT G WS lim  x~0

D. a) Find the maximum value of : x3 +x2-8x+1 1
x3 +x2-8x+1 I SHfUBAH HM J1d HifoY
b) Find the value of m1.m2 if m1 and m2 are perpendicular to each other.
I m1 3R m2 TH G¥R & A9ad © al m1.m2 BT A J1d B

E 1
If F(x)=3x-4x3 find F(sin 6)T7¢ F(x)=3x-4x3 A F(sinf0) T DIfSTT 1
Solve x5+ 1=0 by Demoivre thorem. éthi?ﬂ YR GIRT x5+ 1=0 Eal e B

F Find the value of 1
a)tan11/2+tan"11/3 1
b) In triangle ABC ,a=16 b=24, c=20 then cos A/2 will be
AYS aBc H, a=16 b=24, c=20 Al cos@a/2)] BN

QUESTION NO.-2

Answer any Two parts of the following: [5x2=10]

A. Prove that ( 1+i)n +(1-i)n =2(*/2*1)cos nn /4 5

B. Prove that tan( B — C/2) =b-c/ b+c 5

C. 12422 +32 +......n2 /n3 5
Lim n~oo

QUESTION NO.-3

1




Answer any Two parts of the following: [5x2=10]
A. If z1 and zz2 are two complex number then prove that [Z1 + Z2]2 =] Z112 +1Z21]2 5
e 21 3R 22 <) QAT TRy § o Rig BIRM[Z1 + 22]2 =1 7112 +12212
B. If x=1-t3 and y= 1-t2 then find dy/dx and d?y/dx? at t=1 5
C. 6x+y-3z=5 5
X+3y-2z=5 and 2x +y +4z =8 by Cramer rule. (TR fam)
QUESTION NO.-4
Answer any Two parts of the following: [5x2=10]
A. If A is any vector then find the value of (Ai )I +(Aj)j+(Ak)k 5
B. Find the sum of 3+4+8+9+13+14+18+19+......upto 20 terms 5
C. Find the middle term in the expansion of [x-1/x]2 5
QUESTION NO.-5
Answer any Two parts of the following: [5x2=10]
A. Find the value of c1+2cz+3c3+....4ncCy 5
B. If siny =xsin(a+y) then prove that sin2(a+y)/sina 5
C d/dx [ 2+3cos x/sinx at x=m/4 5




